Механика

Лабораторная работа № 2

Точное взвешивание. 
Определение плотности однородных твёрдых тел правильной формы

Данные
	Цилиндр №1с

m = 20+10+0,1+0,01+2∙0,1/1000 г

i

Di, мм
Hi, мм
1

18,95

13,67

2

18,94

13,68

3

18,93

13,66

4

18,95

13,69

5

18,94

13,68


	Цилиндр №2с

m = 20+2+3∙0,5+0,06+1∙0,1/1000 г

i

Di, мм
Hi, мм
1

14,05

19,46

2

14,07

19,46

3

14,06

19,45

4

14,05

19,46

5

14,03

19,46



	Цилиндр №3а

m = 2+0,5+0,2+0,07-3∙0,1/1000 г

i

Di, мм
Hi, мм
1

7,45

22,57

2

7,45

22,56

3

7,45

22,57

4

7,45

22,57

5

7,45

22,57


	Цилиндр №4а

m = 10+0,2∙2+0,03+42∙0,1/1000 г

i

Di, мм
Hi, мм
1

14,52

22,42

2

14,51

22,42

3

14,51

22,43

4

14,52

22,42

5

14,52

22,42



	Цилиндр №5л

m = 20+2∙2+0,3+64∙0,1/1000 г

i

Di, мм
Hi, мм
1

15,06

16,28

2

15,07

16,29

3

15,08

16,28

4

15,06

16,29

5

15,08

16,28


	Цилиндр №6л

m = 20+2+1+0,33+30∙0,1/1000 г

i

Di, мм
Hi, мм
1

9,99

35,45

2

9,99

35,50

3

10,00

35,50

4

9,99

35,50

5

9,99

35,45



	Шар №1

m = 10+2+0,55-30∙0,1/1000 г

i

Di, мм
1

21,28

2

21,29

3

21,23

4

21,28

5

21,41


	Шар №2

m = =2+0,9+55∙0,1/1000 г

i

Di, мм
1

13,05

2

13,06

3

13,05

4

13,05

5

13,06




См. фото ниже

[image: image1.png]



